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Genetic Variability Analysis in F
3
 Populations of Groundnut (Arachis hypogaea L.)
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Character Cross Mean PCV (%) GCV (%) h2 (BS) (%) GAM (%)

Pod yield per
plant (g)

CO 7 × VRI Gn 6 3.6 74.9 60.7 65.6 101.3

ICGV 00350 × COG 0437 3.7 80.7 68.5 71.9 119.6

TMV 2 × GPBD 4 5.3 68.8 62.0 81.1 115.0

TMV 2 × VRI Gn 6 4.1 100.1 92.2 84.9 175.1

TMV Gn 13 × GPBD 4 3.4 133.9 125.3 87.6 241.5

TMV Gn 13 × VRI Gn 6 4.4 95.9 88.8 85.7 169.2

VRI 2 × GPBD 4 10.6* 50.8 48.5 91.3 95.5

VRI 2 × COG 0437 6.7 45.6 39.1 73.5 69.0

VRI 2 × VRI Gn 6 6.0 64.1 58.4 83.0 109.7

CO 7 (Check variety) 5.79 � � � �

Kernel yield
per plant (g)

CO 7 × VRI Gn 6 2.1 85.4 48.7 32.5 57.2
ICGV 00350 × COG 0437 2.0 86.3 42.8 24.6 43.7

TMV 2 × GPBD 4 3.3 73.6 57.8 61.8 93.6

TMV 2 × VRI Gn 6 2.6 103.8 86.9 70.2 150.0

TMV Gn 13 × GPBD 4 2.2 153.1 137.0 80.1 252.6

TMV Gn 13 × VRI Gn 6 3.1 104.2 92.3 78.4 168.2

VRI 2 × GPBD 4 7.0* 56.5 52.5 86.2 100.4

VRI 2 × COG 0437 4.5 51.4 39.8 59.9 63.4

VRI 2 × VRI Gn 6 4.1 71.3 61.3 74.0 108.6

CO 7 (Check variety) 4.22 � � � �

Late leaf spot
(score)

CO 7 × VRI Gn 6 2.6* 27.1 � � �
ICGV 00350 × COG 0437 3.2* 32.8 15.3 21.8 14.7

TMV 2 × GPBD 4 3.1* 35.5 19.5 30.1 22.0

TMV 2 × VRI Gn 6 2.8* 34.8 8.9 6.5 4.7

TMV Gn 13 × GPBD 4 2.0* 26.7 � � �
TMV Gn 13 × VRI Gn 6 2.1* 15.1 � � �
VRI 2 × GPBD 4 3.2* 33.3 28.2 71.8 49.3

VRI 2 × COG 0437 5.6 20.7 12.6 36.8 15.7
VRI 2 × VRI Gn 6 3.9 27.2 13.0 22.8 12.7
CO 7 (Check variety) 4.29 � � � �

Rust (score)

CO 7 × VRI Gn 6 5.4 28.9 25.8 79.3 47.3

ICGV 00350 × COG 0437 6.4 19.7 16.3 68.4 27.8

TMV 2 × GPBD 4 4.4 45.5 42.5 87.4 81.9

TMV 2 × VRI Gn 6 5.0 36.5 33.7 85.0 63.9

TMV Gn 13 × GPBD 4 5.4 35.8 33.3 86.5 63.7

TMV Gn 13 × VRI Gn 6 5.6 19.2 14.5 56.7 22.4

VRI 2 × GPBD 4 3.5* 35.1 28.9 67.5 48.9

VRI 2 × COG 0437 5.0 41.8 39.3 88.5 76.1

VRI 2 × VRI Gn 6 5.7 25.0 21.7 75.5 38.9

CO 7 (Check variety) 4.25 � � � �
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